
 

Paper: 1MA1/3F 

Question Answer Mark Mark scheme Additional guidance  

9  Shown  P1 for a start to process of finding the total cost,  

eg 5 × 26 (= 130) or 4 × 45 (= 180) or 8 × 23.50 (= 188)  

or 26 + 45 + 23.50 (= 94.5(0)) 

or 

for a start to process of finding money left after paying costs,  

eg 500 – 26 (= 474) or 500 – 45 (= 455) or 500 – 23.50 (= 476.5(0)) 

or 500 – 5 × 26 (= 370)  

or 500 – 4 × 45 (= 320)  

or 500 – 8 × 23.50 (= 312)  

 

 

   P1 for complete process,  

eg “130” + “180” + “188” (= 498)  

or 

500 – “130” – “180” – “188” (= 2)  

 

 

   C1  Shown with a complete process and correct figures.  

 

 

10 (a) radius drawn B1 for radius drawn 

 

May be drawn freehand provided 

intention is clear 

 

 (b) chord B1 cao 

 

 

11  6 M1 

 

for start to method, eg 45 × 8 (= 360) or (45 mins =) 0.75 oe (hours)  

   A1 

 

cao  

12  3 of 23, 29, 31, 37 M1 for two correct and not more than one incorrect, eg 23, 27, 29 

 

May be shown in working space. 

Ignore numbers less than 20 or 

greater than 40 

 

   A1 for three correct and no incorrect 

 

 

Accept 4 correct and no incorrect 




